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> GCF Ladder Method }

Use only the prime numbers as the factors

45, 54
@<e 15,18

5 6

Use the ladder method to find the greatest common factor.

D | 40,56 2 | 30,150 3> | 48,12

GCF = GCF = GCF =

4 | 36,60 5 | 33,154 & | 15,70

GCF = GCF = GCF =

7 | 42,18 8 | 24,32 9 | 27,45

GCF = GCF = GCF =



¢ GCF Ladder Method ¢

Answers

Use only the prime numbers as the factors

45, 54
<EH===E"" 15,18

5 6

Use the ladder method to find the greatest common factor.

D | 40,56 2 | 30,150

GCF =38 GCF =30

4 | 36,60 5 | 33,154

GCF=12 GCF=11

7 | 42,18 & | 24,32

GCF =6 GCF =8
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3> | 48,12

GCF=12

& | 15,70

GCF =5

9 | 27,45

GCF=9



